

UPPER BOUNDS FOR THE LARGEST EIGENVALUE OF A BIPARTITE GRAPH*

JORMA K. MERIKOSKI[†], RAVINDER KUMAR[‡], AND RAM ASREY RAJPUT[‡]

Abstract. Consider a finite, simple, undirected, and bipartite graph G with vertex sets $V = \{v_1, \dots, v_m\}$ and $W = \{w_1, \dots, w_n\}$, $m \leq n$, $V \cap W = \emptyset$. Let the vertices of V have degrees $d_1 \geq d_2 \geq \dots \geq d_m > 0$, respectively. Let N_i be the set of neighbors of v_i ($i = 1, \dots, m$). Define $d_{ij} = |N_i \cap N_j|$ ($i, j = 1, \dots, m$), where $|\cdot|$ stands for the cardinality. Denote $e = d_1 + d_2 + \dots + d_m$, $g = \sum_{i,j} d_{ij}^2$, and $f = d_1^2 + 3d_2^2 + 5d_3^2 + \dots + (2m-1)d_m^2$. In this paper, it is proven that the largest eigenvalue λ of G satisfies

$$\lambda \leq \sqrt{\frac{e}{m} + \sqrt{\frac{m-1}{m} \left(g - \frac{e^2}{m}\right)}} \leq \sqrt{\frac{e}{m} + \sqrt{\frac{m-1}{m} \left(f - \frac{e^2}{m}\right)}} \leq \sqrt{e}.$$

It is also proven that if $d_i \leq d_1 - i + 1$ ($i = 2, \dots, m$), then

$$\lambda \leq \sqrt{\frac{M+1}{2} + \frac{M-1}{2} \sqrt{\frac{2M^2+3M+1}{3}}} < \sqrt{\frac{M(M+1)}{2}},$$

where $M = \max(m, d_1)$.

Key words. Eigenvalues, Bipartite graphs.

AMS subject classifications. 05C50, 15A42, 15B36.

1. Introduction. Let G be a finite, simple, and undirected graph with N vertices and e edges. Its largest eigenvalue λ (i.e., the largest eigenvalue of its adjacency matrix) has been widely studied. For a thorough review, see Cvetković and Rowlinson [2]. We recall some well-known upper bounds for λ . According to Stanley [7],

$$(1.1) \quad \lambda \leq \frac{1}{2}(-1 + \sqrt{1 + 8e}).$$

Friedland [3] improved this to

$$(1.2) \quad \lambda \leq \frac{1}{2}(p - 2 + \sqrt{p^2 + 4q}),$$

*Received by the editors on September 25, 2012. Accepted for publication on April 21, 2013.
 Handling Editor: Shmuel Friedland.

[†]School of Information Sciences, FI-33014 University of Tampere, Finland (jorma.merikoski@uta.fi).

[‡]Department of Mathematics, Dayalbagh Educational Institute (Deemed University), Dayalbagh, Agra 282010, Uttar Pradesh, India (ravinder.dei@yahoo.com, ramasreyrajput@yahoo.co.in). The work of the third-named author was supported by Junior Research Fellowship of UGC F. No. 2-6/2004, F.A.I., India.

where

$$(1.3) \quad p(p-1) + 2q = 2e, \quad 0 \leq q < p.$$

Also, Yuan [9] has shown

$$(1.4) \quad \lambda \leq \sqrt{2e - N + 1}$$

if G has no isolated vertices.

We are interested in upper bounds for λ when G is bipartite with no isolated vertices. So, let G have vertex sets $V = \{v_1, \dots, v_m\}$, $W = \{w_1, \dots, w_n\}$, $m \leq n$, $V \cap W = \emptyset$. Order v_1, \dots, v_m so that they have degrees $d_1 \geq d_2 \geq \dots \geq d_m > 0$, respectively. Order w_1, \dots, w_n so that they have degrees $d'_1 \geq \dots \geq d'_n > 0$. We have then $e = d_1 + \dots + d_m = d'_1 + \dots + d'_n$. The adjacency matrix of G is an $(m+n) \times (m+n)$ matrix

$$\mathbf{A} = \begin{bmatrix} \mathbf{O} & \mathbf{P} \\ \mathbf{P}^T & \mathbf{O} \end{bmatrix},$$

where \mathbf{P} is an $m \times n$ matrix whose e nonzero entries are one and the remaining entries are zero. The row sums of \mathbf{P} are d_1, \dots, d_m and the column sums are d'_1, \dots, d'_n . We use all these notations throughout.

Since λ is the largest singular value of \mathbf{P} , we have

$$(1.5) \quad \lambda \leq \sqrt{d_1 d'_1},$$

see [5, (3.7.2)]. The singular values of \mathbf{P} are the square roots of eigenvalues of $\mathbf{D} = (d_{ij}) = \mathbf{P}\mathbf{P}^T$. As a result, we can find an upper bound for λ^2 by applying any upper bound for the largest eigenvalue of \mathbf{D} and interpreting the result graph theoretically. Let us now consider the bound

$$(1.6) \quad \lambda^2 \leq \frac{\text{tr } \mathbf{D}}{m} + \sqrt{\frac{m-1}{m} \left[\text{tr } \mathbf{D}^2 - \frac{(\text{tr } \mathbf{D})^2}{m} \right]}$$

(Wolkowicz and Styan [8, Theorem 2.1]), where equality holds if and only if the $m-1$ smallest eigenvalues of \mathbf{D} are equal.

Let N_i denote the set of neighbors of v_i ($i = 1, \dots, m$). Then

$$d_{ij} = |N_i \cap N_j| \quad (i, j = 1, \dots, m),$$

so $d_{ii} = d_i$ ($i = 1, \dots, m$). Here $|\cdot|$ stands for the cardinality.

In Section 2 we present upper bounds for λ by applying (1.6). In Section 3, we will compare these bounds with bounds (1.1), (1.2), (1.4), and (1.5). Finally, in Section 4, we will draw conclusions.

2. Upper bounds. Our first theorem applies the d_{ij} 's.

THEOREM 2.1. *Denote*

$$g = \sum_{i,j=1}^m d_{ij}^2 = d_1^2 + \cdots + d_m^2 + \sum_{\substack{i,j=1 \\ i \neq j}}^m d_{ij}^2$$

and

$$f = d_1^2 + 3d_2^2 + 5d_3^2 + \cdots + (2m-1)d_m^2.$$

Then

$$(2.1) \quad \lambda \leq \sqrt{\frac{e}{m} + \sqrt{\frac{m-1}{m} \left(g - \frac{e^2}{m} \right)}} \leq \sqrt{\frac{e}{m} + \sqrt{\frac{m-1}{m} \left(f - \frac{e^2}{m} \right)}} \leq \sqrt{e}.$$

For $m = 1$, equality holds throughout. For $m \geq 2$, the first bound is exact if and only if $m-1$ smallest eigenvalues of \mathbf{D} are equal. The second and third bounds are exact if and only if G is complete bipartite.

Proof. First inequality. Since

$$\text{tr } \mathbf{D} = e, \quad \text{tr } \mathbf{D}^2 = g,$$

this follows from (1.6).

Second inequality. We must show that $g \leq f$; in other words,

$$\sum_{i,j=1}^m d_{ij}^2 \leq d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2.$$

We prove this by induction on m . The claim holds for $m = 2$. Suppose that it holds for m . Because $d_{ij} \leq d_j$ for all $i, j = 1, \dots, m$, we have

$$\begin{aligned} \sum_{i,j=1}^{m+1} d_{ij}^2 &= \sum_{i,j=1}^m d_{ij}^2 + 2 \sum_{i=1}^m d_{i,m+1}^2 + d_{m+1}^2 \\ &\leq d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2 + 2 \sum_{i=1}^m d_{m+1}^2 + d_{m+1}^2 \\ &= d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2 + (2m+1)d_{m+1}^2. \end{aligned}$$

Hence, the claim holds for $m+1$.

Third inequality. The claim is equivalent to $f \leq e^2$; i.e.,

$$d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2 \leq (d_1 + \cdots + d_m)^2.$$

Again, we prove this by induction on m . We note that this holds for $m = 2$ and suppose that it holds for m . Then

$$\begin{aligned} & d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2 + (2m+1)d_{m+1}^2 \\ &= d_1^2 + 3d_2^2 + \cdots + (2m-1)d_m^2 + 2 \sum_{i=1}^m d_{m+1}^2 + d_{m+1}^2 \\ &\leq (d_1 + \cdots + d_m)^2 + 2 \sum_{i=1}^m d_i d_{m+1} + d_{m+1}^2 \\ &= (d_1 + \cdots + d_m)^2 + 2(d_1 + \cdots + d_m)d_{m+1} + d_{m+1}^2 = (d_1 + \cdots + d_{m+1})^2, \end{aligned}$$

so the claim holds for $m+1$.

Equality conditions. The equality condition of the first inequality follows from that of (1.6). However, see Remark 4.3. The proofs of the second and third inequality imply that equality holds if and only if $d_{ij} = d_i$ for all $i, j = 1, \dots, m$. This happens if and only if G is complete bipartite. Then $\text{rank } \mathbf{D} = 1$, and thus, equality holds also in the first inequality. \square

The *chain graph* corresponding to G is a bipartite graph \tilde{G} with vertex sets V and $\{w_1, \dots, w_{d_1}\}$ and edges

$$(v_1, w_1), \dots, (v_1, w_{d_1}), (v_2, w_1), \dots, (v_2, w_{d_2}), \dots, (v_m, w_1), \dots, (v_m, w_{d_m}).$$

Its largest eigenvalue $\tilde{\lambda}$ satisfies

$$(2.2) \quad \lambda \leq \tilde{\lambda}$$

(Bhattacharya et al. [1, Theorem 3.1]).

Our second theorem concerns only d_1, \dots, d_m , but requires certain assumptions.

THEOREM 2.2. *If*

$$(2.3) \quad d_2 \leq d_1 - 1, d_3 \leq d_1 - 2, \dots, d_m \leq d_1 - m + 1,$$

then

$$(2.4) \quad \lambda \leq \sqrt{\frac{M+1}{2} + \frac{M-1}{2} \sqrt{\frac{2M^2+3M+1}{3}}} < \sqrt{\frac{M(M+1)}{2}},$$

where $M = \max(m, d_1)$.

Proof. The adjacency matrix of \tilde{G} is

$$\tilde{\mathbf{A}} = \begin{bmatrix} \mathbf{O} & \tilde{\mathbf{P}} \\ \tilde{\mathbf{P}}^T & \mathbf{O} \end{bmatrix},$$

where $\tilde{\mathbf{P}}$ is the $m \times d_1$ matrix obtained from \mathbf{P} by moving in each row the ones to the beginning and the zeros to the end and then (in case of $d_1 < n$) deleting the zero columns. Evidently, the largest eigenvalue of

$$\tilde{\mathbf{P}}\tilde{\mathbf{P}}^T = \tilde{\mathbf{D}} = \begin{bmatrix} d_1 & d_2 & d_3 & \cdots & d_m \\ d_2 & d_2 & d_3 & \cdots & d_m \\ d_3 & d_3 & d_3 & \cdots & d_m \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ d_m & d_m & d_m & \cdots & d_m \end{bmatrix}$$

is $\tilde{\lambda}^2$.

Consider the $M \times M$ matrix

$$\mathbf{T} = \begin{bmatrix} 1 & 1 & 1 & \cdots & 1 & 1 & 1 \\ 1 & 1 & 1 & \cdots & 1 & 1 & 0 \\ 1 & 1 & 1 & \cdots & 1 & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 1 & 1 & 1 & \cdots & 0 & 0 & 0 \\ 1 & 1 & 0 & \cdots & 0 & 0 & 0 \\ 1 & 0 & 0 & \cdots & 0 & 0 & 0 \end{bmatrix}.$$

Let $\tilde{\mathbf{P}}_0 = (p_{ij}^0)$ be the $M \times M$ matrix obtained from $\tilde{\mathbf{P}}$ by appending zero rows (if $m < d_1$) or zero columns (if $m > d_1$) appropriately. Since $i + j > d_1 + 1 \Rightarrow p_{ij}^0 = 0$ by (2.3), we have

$$\tilde{\mathbf{P}}_0 \leq \mathbf{T},$$

where \leq is entrywise. If $m < d_1 (= M)$, append to $\tilde{\mathbf{D}}$ zero rows and zero columns to obtain an $M \times M$ matrix $\tilde{\mathbf{D}}_0$. Also the largest eigenvalue of $\tilde{\mathbf{D}}_0$ is $\tilde{\lambda}^2$. Because

$$\tilde{\mathbf{D}}_0 \leq \mathbf{T}^2 = \begin{bmatrix} M & M-1 & M-2 & \cdots & 3 & 2 & 1 \\ M-1 & M-1 & M-2 & \cdots & 3 & 2 & 1 \\ M-2 & M-2 & M-2 & \cdots & 3 & 2 & 1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ 3 & 3 & 3 & \cdots & 3 & 2 & 1 \\ 2 & 2 & 2 & \cdots & 2 & 2 & 1 \\ 1 & 1 & 1 & \cdots & 1 & 1 & 1 \end{bmatrix},$$

the largest eigenvalue μ of \mathbf{T} satisfies

$$(2.5) \quad \tilde{\lambda}^2 \leq \mu^2.$$

This follows from the fact that if \mathbf{B} and \mathbf{C} are nonnegative square matrices of same size and $\mathbf{B} \leq \mathbf{C}$, then the Perron roots $\rho(\mathbf{B}) \leq \rho(\mathbf{C})$ (e.g., [4, Corollary 8.1.19]).

Now

$$\text{tr } \mathbf{T}^2 = M + (M-1) + \cdots + 1 = \frac{M(M+1)}{2}$$

and [6, Sequences A005900 and A006325]

$$\text{tr } \mathbf{T}^4 = \sum_{i=1}^M [1^2 + 2^2 + \cdots + i^2 + (i-1)^2 + \cdots + 1^2] = \frac{(M+1)^5 - M^5 - 1}{30}.$$

Since

$$\frac{M-1}{M} \left\{ \frac{(M+1)^5 - M^5 - 1}{30} - \frac{1}{M} \left[\frac{M(M+1)}{2} \right]^2 \right\} = \frac{(M-1)^2(2M^2 + 3M + 1)}{12},$$

applying (1.6) to \mathbf{T}^2 gives us the result

$$(2.6) \quad \mu^2 \leq \frac{M+1}{2} + \frac{M-1}{2} \sqrt{\frac{2M^2 + 3M + 1}{3}}.$$

Furthermore,

$$(2.7) \quad \begin{aligned} \frac{M+1}{2} + \frac{M-1}{2} \sqrt{\frac{2M^2 + 3M + 1}{3}} &< \frac{M+1}{2} + \frac{M-1}{2} \sqrt{M^2 + 2M + 1} \\ &= \frac{M+1}{2} + \frac{(M-1)(M+1)}{2} = \frac{M(M+1)}{2}. \end{aligned}$$

Now (2.2), (2.5), (2.6), and (2.7) imply (2.4). \square

COROLLARY 2.3. *If (2.3) holds, then*

$$\lambda \leq \sqrt{\frac{n+1}{2} + \frac{n-1}{2} \sqrt{\frac{2n^2 + 3n + 1}{3}}} < \sqrt{\frac{n(n+1)}{2}}.$$

Proof. Since $m \leq n$ and $d_1 \leq n$, we have $M \leq n$. \square

3. Comparisons and examples. We do some comparison between the bounds discussed above.

(2.1) *versus* (1.2). The inequality

$$\sqrt{e} \leq \frac{1}{2}(p-2 + \sqrt{p^2 + 4q}),$$

where p and q satisfy (1.3), is equivalent to

$$p-2 \leq (p-2)\sqrt{p^2 + 4q}.$$

Since $p \geq 2$ and $q \geq 0$, this always holds, so (2.1) is better than (1.2). Since (1.2) improves (1.1), then (2.1) also improves (1.1).

(2.1) *versus* (1.4). The inequality

$$\sqrt{e} \leq \sqrt{2e - m - n + 1}$$

is equivalent to

$$m + n - 1 \leq e,$$

which is true if G is connected. Then (2.1) improves (1.4). This may change if G is not connected, as we see in the following example.

EXAMPLE 3.1. Consider G with

$$\mathbf{P} = \mathbf{D} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}.$$

Then $\lambda = 1$, $m = n = 3$, $e = g = 3$, $f = 9$. The bound (1.4), $\lambda \leq 1$, improves the second bound of (2.1), $\lambda \leq 1.732$, but equals the first bound. The question whether (1.4) can improve the first bound of (2.1) remains open.

(2.1) *versus* (1.5). We study two examples.

EXAMPLE 3.2. Consider G with

$$\mathbf{P} = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 0 \\ 1 & 0 & 0 \end{bmatrix}, \quad \mathbf{D} = \begin{bmatrix} 3 & 2 & 1 \\ 2 & 2 & 1 \\ 1 & 1 & 1 \end{bmatrix}.$$

Then $\lambda = 2.247$, $m = n = 3$, $e = 6$, $d_1 = d'_1 = 3$. The third bound of (2.1), $\lambda \leq 2.449$, is better than (1.5), $\lambda \leq 3$.

EXAMPLE 3.3. To see that (1.5) may be better, consider G with

$$\mathbf{P} = \begin{bmatrix} 1 & 1 & 0 \\ 1 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}, \quad \mathbf{D} = \begin{bmatrix} 2 & 2 & 0 \\ 2 & 2 & 0 \\ 0 & 0 & 1 \end{bmatrix}.$$

Then $\lambda = 2$, $m = n = 3$, $e = 5$, $g = 17$, $d_1 = d'_1 = 2$. Now (1.5) yields $\lambda \leq 2$, while the first bound of (2.1) yields $\lambda \leq 2.018$.

(2.1) *versus* (2.4). The proof of Theorem 2.2 implies that the first bound of (2.1) is better than the first bound of (2.4). We show that the third bound of (2.1) is better than the second bound of (2.4). Assuming (2.3), we have

$$\begin{aligned} e &\leq d_1 + (d_1 - 1) + \cdots + (d_1 - (m - 1)) \\ &\leq M + (M - 1) + \cdots + (M - (m - 1)) = m \frac{2M - m + 1}{2}. \end{aligned}$$

Hence,

$$\frac{M(M+1)}{2} - e \geq \frac{1}{2}[M(M+1) - m(2M - m + 1)] = \frac{1}{2}[(M - m)^2 + M - m] \geq 0,$$

and the claim follows. If $\mathbf{P} = \mathbf{T}$, then the first bound of (2.4) is equal to the first and second bounds of (2.1), and the second bound of (2.4) is equal to the third bound of (2.1).

EXAMPLE 3.4. Let G be as in Example 3.2. The first bound of (2.4) and the first and second bounds of (2.1) yield $\lambda \leq 2.248$. The second bound of (2.4) and the third bound of (2.1) yield $\lambda \leq 2.449$. The best of the other bounds is (1.4), $\lambda \leq 2.646$.

4. Conclusions and remarks. We presented upper bounds for the largest eigenvalue of a bipartite graph and compared them with certain upper bounds that work more generally. We conclude our paper with three remarks.

REMARK 4.1. The third bound of (2.1) is well-known (e.g., [1, Proposition 2.1]).

REMARK 4.2. If we proceed as in the proof of the first bound of (2.1) but study $\mathbf{P}^T \mathbf{P}$ instead of $\mathbf{D} = \mathbf{P} \mathbf{P}^T$, we obtain

$$(4.1) \quad \lambda^2 \leq \frac{e}{n} + \sqrt{\frac{n-1}{n} \left(g - \frac{e^2}{n} \right)},$$

but this is weaker than the first bound of (2.1). Namely, adding $n - m$ zeros to relevant places, we have

$$\begin{aligned} & \text{square of first bound of (2.1)} \\ &= \max \{ \mu_1 \mid \mu_1 + \cdots + \mu_m = e, \mu_1^2 + \cdots + \mu_m^2 = g, \mu_1 \geq \mu_2, \dots, \mu_m \} \\ &= \max \{ \mu_1 \mid \mu_1 + \cdots + \mu_m + 0 + \cdots + 0 = e, \\ & \quad \mu_1^2 + \cdots + \mu_m^2 + 0^2 + \cdots + 0^2 = g, \mu_1 \geq \mu_2, \dots, \mu_m, 0, \dots, 0 \} \\ &\leq \max \{ \mu_1 \mid \mu_1 + \cdots + \mu_n = e, \mu_1^2 + \cdots + \mu_n^2 = g, \mu_1 \geq \mu_2, \dots, \mu_n \} \\ &= \text{right-hand side of (4.1)}. \end{aligned}$$

REMARK 4.3. The equality condition of the first bound of (2.1) depends on the eigenvalues of \mathbf{D} and thus also on those of G . A natural further question is to characterize equality without using eigenvalues but using only the structure of G and related quantities. We claim that equality holds if

- (i) $|N_1| = \cdots = |N_m|$,
- (ii) $|N_i \cap N_j| = |N_k \cap N_l|$ for all $i, j, k, l \in \{1, \dots, m\}$ with $i \neq j, k \neq l$,

in other words if

- (i) $d_1 = \cdots = d_m$,
- (ii) $d_{ij} = d_{kl}$ for all $i, j, k, l \in \{1, \dots, m\}$ with $i \neq j, k \neq l$.

For the proof, let d and δ denote the common value of the d_i 's and d_{ij} 's, respectively. Then

$$\mathbf{D} = \begin{bmatrix} d & \delta & \delta & \cdots & \delta \\ \delta & d & \delta & \cdots & \delta \\ \delta & \delta & d & \cdots & \delta \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \delta & \delta & \delta & \cdots & d \end{bmatrix}.$$

All row sums of \mathbf{D} are $d + (m-1)\delta$. Since the largest eigenvalue of \mathbf{D} is between the smallest and largest row sums (e.g., [4, Theorem 8.1.22]), we have $\lambda^2 = d + (m-1)\delta$. Substituting

$$e = md, \quad g = md^2 + m(m-1)\delta^2,$$

a simple computation shows that also the square of the first bound of (2.1) is $d + (m-1)\delta$. Hence, equality holds.

We conjecture the converse: Equality holds only if (i) and (ii) are satisfied.

Acknowledgment. We thank the editor-in-chief for improving the English of this paper.

REFERENCES

- [1] A. Bhattacharya, S. Friedland, and U.N. Peled. On the first eigenvalue of bipartite graphs. *Electron. J. Combin.*, 15, R144, 23 pages, 2008.
- [2] D.M. Cvetković and P. Rowlinson. The largest eigenvalue of a graph: A survey. *Linear Multilinear Algebra*, 28:3–33, 1990.
- [3] S. Friedland. Bounds on the spectral radius of graphs with e edges. *Linear Algebra Appl.*, 101:81–86, 1988.
- [4] R.A. Horn and C.R. Johnson. *Matrix Analysis*, Cambridge University Press, Cambridge, 1985.
- [5] R.A. Horn and C.R. Johnson. *Topics in Matrix Analysis*. Cambridge University Press, Cambridge, 1991.
- [6] N.J.A. Sloane. “The On-line Encyclopedia of Integer Sequences”. The OEIS Foundation Inc. <http://oeis.org/>.
- [7] R.P. Stanley. A bound on the spectral radius of graphs with e edges. *Linear Algebra Appl.*, 87:267–269, 1987.
- [8] H. Wolkowicz and G.P.H. Styan. Bounds for eigenvalues using traces. *Linear Algebra Appl.*, 29:471–506, 1980.
- [9] H. Yuan. A bound on the spectral radius of graphs. *Linear Algebra Appl.*, 108:135–139, 1988.